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IMPORTANT INSTRUCTIONS
This Boeklet has a cover { this page } which should not be opened tlll the invigilator gives signal to
open it a1 the commencement of the examination. As soon as the signal is received you should tear
the right side. of the booklet cover carefully to open the booklet. Then proceed 0 answer the
questions,
This Question Booklet contains 200 questions.
Answer all questions. All questions carry cqual marks.

The Test Booklet Is printed in four scrics e.g. or (Sce Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the scries of the booklet.
For example, If the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheel with Blue er Black Ink Ball point pen as follows

(Al rs11ciip]

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything eise on the Question Bookict.

An Answer Shectl will be supplied to you separately by the Invigllator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated. '

You will also encode your Register Number. Subject Code ete.. with Blue or Black ink Ball point pen
in the spacc provided on the side 2 of the Answer Sheet. If you do not encode properly or fall to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), {C) and {D}. You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best, In any case, choose ONLY ONE response
for each gquestion. Your total marks will depend on the number of correct responscs marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets | A [ B || C | and | D | against each question, To
answer the qQuestions you are to mark with Ball point pen ONLY ONE brachet of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for, any item, (B} is the correct answer. you have to mark as follows :

(AT CIID]
You should not remave or tear off any sheet from this Question Booklet, You are not allowed (o take
this Question Beoklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Shect to the Invigilator. You
are allowed to take the Question Booklet with you only afier the Examination is over.
The sheet before the last page of the Question Booklet can be used for Rough Work.
Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion. ‘
For Question Nos, | 1o 100 in all matters and in cases ol doubt, the English Version is firial.
Do not tick-mark or mark the answers in the Question Booklet.

["FTAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLET
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o°o|51o°ou!j;§( FIFA ) 2010 glparar ‘auében usbsm adp urLeve Ur. auritiy unheg
SiefléaiuLg 7

A): s‘i%ésafgrr ' ' B) g papwrer
C) @mmwgwggn D) wllmemn.

_ Who_pr;;esented the FIFA 2010 song ‘Waka Waka’ ?.
A)  Shakira B} A.R.Rehman
C) llayaraja D} Madona.

g@ma; ZEZOIO & urdlavgreias gpul Qeusteary GuiiLi giLL.& sryaTe HE

A} gleod ' B) &g

C) . Qasmm - D) greldl. ‘
The flood hazard in Pakistan during July 2010 is due to the flood i

A) '-Jahelunx ' a B) Indus

C) Chenab i D}  Ravi,

2 awdlBatu Cufly Gl esdl sy aiig 2 isig ?

A)  ev@uilier _ B)  Gumidsssd
C). - gGumiur - D) pelwwr.
Which .',_is the largest solar power plarit in the world ?

A) Spain B}  Portugal

C) Europe \ ) Rusgsia.

2010 i grompsera . g, Siwr staubss alpg @oe WHN &éwré&rrr;
geopfiee Gupmeut '
A) mfﬂ ). peorigrOgwest whHnid #THBT &eoreEs gL
B) afﬂgm grrhd)

C) L;gmrr &Lyinentiiuh 7

D)  &emoedsl e éﬁ@,aﬁq@ms&r.

G. D.j:’:t?virla International Award in art and culture category for the year 2010
was given to :

A) V P. Dhananjayan and Shantha Dhananjayan

B)  Vijay Shanthi

.C) - Padma Subramaniam

D) JKalamandalam Krishnan,

' . xxxx|TB03] 701 [ Turn over
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5. ydlusrs diypsludsdyeier Ghdlu murdlet @GOG ehs e wsHar ugausHe

S|OLDBHEI6TEN S
A} Gumosd e1dpSH B} Ggeunraf spss
C) sblp epds ’ D} {(A)wboib (B) @yes (o

The newly introduced Indian rupec symbol is based on

A) Roman script B) Devanagiri script
C)  Tamil script , D) Both (A) & (B).
6. apd USHNTEOIH eresHms @IhHu T LHOLESHEH&EGTE UGSTETL s alsHs
2_cing) 2
A) 1950-1960 B} 1980-1990
C)  2000-2010 D) 2011-2020.
Which decade is declared as the ‘Decade of Innovation' by the Government of
India ?
A) 1950-1960 B} . 1980-1990
C) 2000-2010 D) 2011-2020.

7. 2010 b RGN ‘e DD LTHSMIY 2 8] LTHIE" 6k HavL QUDDE 7

A) FIGwir -1 -Ggpef| Gryr B)  umed

Q) ‘ Qggesteur D)  eureadliti_eb.
What was the venue of ‘Nuclear Securily Summit 2010° ?
A) -Rio de Janeiro ' B) Bali

C) Geneva D) Washingtlon.

8. 2010 @ GQur@elugssrs Crrud uflel Cupraeuflsr Quurt edrer 2
A) UL Cuipedt ' B) Gué wrmiQ_enblge
C) dfevGLrut Aeremt s - D) umd srupGeusas.
The person who is not awa_rdcd Nobel Prize in Economics in 2010 is
A) Peter Diamond B) Dale Mortensen
C) Christopher Pissarides D) Paul Samuelson.

9. 2. o8B G sl Lid 2009 6 bLbh GL.b
A) GLr&adlGurr B) wrev@asr
C)  @evgmedrén ) D} ep@rmdl.
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11.
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The'mecting of the World Water Forum was held in 2009 at
A) Tokyo B) Moscow
C)  Istanbul D) Nairobi.

GDD euPh@ Levrestiley ghubLTe sfusda, ( 2010 ) & 2 saddlnansdd Hmsss,
Slp Qar@esiul Gerencupdlés eg) sflureig 2

A) @bpaurdilemer &g e linéenl T8

B)  C.B.IL aflgnyenesst Qeiwsan. mey

C)  grés bEHb LHRD Cur s Blyd sEeallaw 2 LBLTHIURSS sal g
D) @eubmer sgaubdldeme.

~ Which among the following is correct with reference to recent { 2010} Supreme

Court remarks over criminal case investigation ?

A) ‘N0’ to arrest any criminals

B)  ‘'No’ to CBI inquiry

C)  'No' to lie detector and narcotesting

D) None of these.

Sbeor { Hamla ) L.y &g erediDitey

A) Qlesiemenil UTHSTUY DBINHEHD &Taid Geopud Cafbha BLSEU uTgeTLY
Godlos ‘

B) sllpprge Gpaedlsatds o2 busdlaw @u@&,@mggﬁa’nm Bl oy Hs

C) _weflg aubller e Gonlushare ydhy reo idléams (peop

D)  @eubmet ergieydlcvenen.

Operation ‘Hamla' means

A) security drill conductéd by the police and security agencies in Chennai

B}  operation to increase the production of Amla in Tamil Nadu
C) new surgical technique to reduce body weight ( human )
D) none of these,

Y. V. Gyl gpiiag Quimiile eow sukdldles seutemyre wuri Glubdlésnul Lt 2
A)  Dr. @pdlym qieymepes | B)  Dr. glefii emmal
C) Dr. aflgi L. Qs D)  dkp. D. soumgrel.
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Who has been appointed as the RBI Governor after the retirement of

ShriY. V. Reddy ?

A)  Dr. Indra Rangarajan . B) Dr. Dilip Sanghvi

C) Dr. Vijay L. Kelkar D}  Shri. D. Subba Rao.
13. 2009 b sycorgharear Ghdrenbd Siwd) ufae Qubpeurt

A) Opéser e CL e B} @L_QSIL; Cawemedn

C)  goedlwur Heeoni( - D) Geys apdlen.

The recipieht of Indira Gandhi Prize for Peéce in 2009 is

A} Nelson Mandela B) David Cameron

C) Julia Gillard D)  Sheikh Hasina.

14, ulguwd I vigque IT 2 Lear Quresd), ECp Qor@asiiu(era @HlGamens |

Qaren @ eflure efeL_ouws CamOs® :

uligué I uligwe II
( H&ﬁﬁfﬂ ) ( 9 Aflwir )
a) @l Uidlallevgev 1. prirgem Gamed
b) . eydisT | 2. Qgremas QL&
O anmi® G " 3. gé wdsen.
eilSpeat -
| a b c

A) i 2 3

B) 2 3 1

C) 3 2 3

D) 2 1 3.
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Match List I with List 11 corrcctly and select your answer using the codes given

below @
List I List IT
( Books ) { Authors )
a) The Privileges 1. Martina Cole
b) Avtar 2. Jc.)nathan Déc
¢)  Hard Girls | 3. Dic Mathison
Codes :
a b c
A} 1 2 3
B) 2 3 1
) 3 2 3
D) 2 1 3.

2010 &, eThs Bl e Gry el e e wrHDD Clelwiul.Gererg 2
A w@as B)  regwr
C) eoeLm D)  eGyriur.

In 2010 which country changed its time zones ?

A) UK B) Russia
€) Canada D)  Europe.
@bBIWTaNas, ..o, sraTGloudsd cundldle aodlemer pbemuiles gy eev
2010 & Hloyeulic L gy,
A) QuesoriE B) sy eudlGrellum
Q) | SHEOTL_IT D)) SUTeunThgy).
Commonwealth Bank of .................... in August 2010, opened its first Branch in

India in Mumbai.
A) Denmark B) Australia

C] Canada _ D) Ireland.

XXX 701 [ Turn over
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17, LT 120 I T U, f [ EeiTiey (PGS LPEDDWIT & uesfléa g
&m&@ﬁq&e’ﬂuif_@.
A) 29 gugesy 2010 ~ B} 29 QeliL.bur 2010
C) 29 geweuf 2010 , D) 29 0agaf 2010.

The ice cubes were first discovercd in one asteroid on
A) 29th April, 2010 B) 29th September, 2010
C) 29th January, 2010 D)  29th February, 2010.

18. @pdurelded Gead Criuralped Gerdle gpul durg  @luUBsD
&Y SB T BT 6T

A) 10 wrrré. 2010 B} 15uwmrré, 2010

C) 1 wrig. 2010 D) 5uwrié, 2010.

Riyadh Declaration between India and Saudi Arat;‘ia was signed on

A) 10th March, 2010 B)  15th March, 2010

C) 1st March. 2010 . D)  5th March, 2010.
19. 2012 yyb geongphare spedlindls, Gurligaer pen Glup Q_GT'TGIT‘@LL'D

A)  evcuTL & B) Ui

C) gOgerey - D) shlend.

2012 Olympic Gémes_ is to be held in

A) “Lendon ' B) Beijing

C) Athens D}  Sydney.

20. @hduremes spilysier prHssiles ahs HTLHLET @ gl ® H s ewenen @b
2. (HeurHdlyeTensg ? '

A) e B) undlevgmen

C) @ersns ' D) uksaTCsey.

With which neighb_ouring country, has India created a joint river commission ?
A) China ' B) Pakistan

C) Sri Lanka - D} Bangladesh.
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21, ulguéd I g ulgude I 2. a Qurgsdl. &Gy Qar@ésuul Geien GhliGsmeard

Qeres® efure alev_owg CarbOa® :

a)
b)
c) '
d)
@lGest
a
Al 3
B) 2
C) 4
D) 1

uligwe I

a1 QeuliuBleney Hlepey
Qi) wrprbn Bl pey
GerGuiils Hlapey

anGargCrmilé Hiepeay

2

=W W N
N

3

1

2.

ulCigwey II

1.  Vwordled, Pwpmin T wrmb

»

T orHledl. P opmid V wmmd

e .

QUL 65 SeLLIHE
Sewdlssiu Geur,
GleueNCupGeun G)cuemen

- 4. Porded, T whmb V wrgb.

Match List I with List II correctly and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

A 3
B) 2
Cy 4
1

D)

xoex [ 1802 ]

List I

Isothermal process
Adiabatic process

Isobaric process

Isochoric process

b c
2 1
3 4
3 2
4 3

List II
1. V constant, P and T change
2. T constant, P and V change

3. Heat is neither allowed to enter
nor leave the system

4. P constant, T and V change.

701 ) [ Turn over
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22. oo Ofey G Ceuelllfler &p whnid Guod admeasst wanGu 10 wHmb 40. Gse

enow WS
A) 25-0° B} 125
C) 150 D} 300

If the lower and upper limits of a class are 10 and 40 respectively, the mid-point *

of the class is
A) 250 | | B 126
C} 15-0 D)  300.
23. allpréseilen pagn’ |
A)  Slgbub B) aEhsveyt
C) wge D) @@@@@Gdaﬂ.
'City of Festival' is .
A) Chidambaram ; B}  Tanjore -
C) Madurai D) Tiruﬁelveli.

24, ulguwe I g uiguwe I 2t & Quipsd), &GP Cer@ssiul e GHllPemens
Qeren@ sfluren aflen ows Csrbos® -

Ul gwéy I 'u&'_qu.léu u
. a  Gurgprussepmd 1. Qesupersu @
b) eﬂahtmm@r‘r 2. goseml
¢) 2 dlevibLi’ig 3. yesloe
d} FbLb 4. deval.
epast |
a b c d
A) 4 2 1 3
B) 2 3 2 1
vl 4 2
D) 1 4 3 4.

xxxx [ 1502 | 701
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Match List I with List II correctly and select your answer using the codes given

below :
List I List 11
a)' Bodinaickanur 1. Artificial silk
b) Chinnamanur 2. Cardamom
c) Usiiampatti "~ 3.  Tobacco
d} Cumbum 4. Biscuit.
Codes :

A) 4 2 i g

‘B 2 3 2 1

c) 3 1 4 2

Dy 1 4 3 4.

Corss 2. eimnl 6 2 busdlss SIEs wieta) Lk Qiemd Sieflsg umaIg
A) Geuerregoremio — B) Gmrr@s%&rr‘ﬁgbg 2_Husglgeon
C)  sl(wreaisaenn D} Goemeubgiann.

The largest contribution to GDP still comes from

A) agriculturc - B} manufacturing industries

C) construction D) services,

Sesreumueurseiles wped ‘LTHg e alme ©upbmeut wri 7 |

A)  C.gnreGarureréerfumt B) M. G. gyrwéspdlyes
C) K. sroprg C D) M. S. siyelsifl.
Who among the following received the first ‘Bharat Ratna’ award ?
A}  C. Rajagopalachari B) M. G Ramachandran

C) K. Kamaraj D) M. 5. Subbulakshmi.

XXXX 701 [ Turn over
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27.

28.

29.

Geureol i LPetr BlemgemL et sjeney Flsb ger aafley

A) S Flslugure Qeuliub Semlaudlde

B) 5 Ssgstuguret BlarGearm g ghudlaene .

C) & deuugure Dererpss Counuml §eme yeThs (g &lng)
D) e senel iu@id WetarwsHe Gapumi.ig enet WTHDT .

The net resistance of a voltmeter should be large to ensure that

A) it does not get overheated

B) it does not draw excessive current

C} it can measure large pofcntial differences

D) it does not change the potential difference to be measured:

Léllé GuimPhiles sy pwimeoT LGS

A) wiflurerT 26 Hl B) GLmisr 2iaf

C)  delitiemusiten il . D) &fGe siaLf.
| The deépest point in the Pacific ocean is

A) Mariana trench ' ' B) Tonga trench

C) - Phillippine trench i)) Kurile trench.

EPHecToTL SaDNIGE6T UG :
I G@enlanard G\Tss eibosay senae Haflsn
. o@eCarard Quss 5rro’.>§¥m§5]s&; ST (GEOMEGID.

@leuhmyer :
A)  Twhpp I sfluraama B) 1wbmd II seumpmerans
C)  1afl geare I seum D) 1geup e 11 el

Consider the following statements :

L Glucagon increases the blood sugar level.
II.  Glucagon lowers the blood calcium level.
Of these
A} .1 &Il are correct B) [ & Il are wrong
C) . lis correct but Il is wrong D) [ is wrong but Il is correct.

xxxx [1502] - [7e1
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32.
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33.

13 MART
uetor & pHé Ceussans HL.OUUGSSTH Gnmis el
A} uemIypss Sjerey
B) cuanlle Hlpeuesiseiisr elbusmer wéliny
C) : L6 eusdaen
D} eureilug @ipev.

Which one of the following factors does not influence velocity of circulation of

money ?
A) Quahtity of money - B}  Selling cost of business firms
C) Credit facilities ' [}  Business conditions,

.gLIS]g)[ﬁﬂ'LLLq.G'\.J pibetardl genp eiCung giPldeiui Lg 2

Al 1947 B} 1948
C} 1950 | [} 1952
When was Zamindari system abolished in Tamil Nadu ?
A) 1947 B} 1948
C) 1950 D) 1952
Qu@thurrg:)rrwr WTeUL L Bigeic gyﬁgpgbrn'_qe'\j GObus Garflers QerLibs Bbkbs
Qareo(® GYblLg

.

A} _erdlps @M fla B) wassds Qemfe

C) Ul gs Qgmfle D)  Jgs0sTifie

....... iveiereen... continues to be the family occupation in most of the districts in
Tamil Nadu. |

A} . Paper ihdustry B} Handloom industry

C) Match industry D) Beedi industry.

4
O acviailalphbs 24-96 o féeb Curg, g 2bHS 6 6o 6o - DI RIGHT &
GpHDE. Db TRl GlevbsnnellsT FnRge g ?
A) 1 B) 9

cy 11 D) 10

xxxx 1602 : 701 [ Turn over
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34,

35.

36,

When 24 is subtracted from a number, it reduces to its four-seventh. What is

the sum of the digits of that number ?

A) 1 ' B) 9

o 1 D) 10
Gyrepfleaciie Gméen 2 Ceorsiiseh

A} Mg wbmic Al B) Al wbmub Au
C) Mn whHmb Al _ : D) Znwbmib Al
Duralumin contains

A) Mg and Al B) Al and Au
C)  Mn and Al D)  Zn and Al
Cudw Qe bare yye ghulL g eriCurg ?

A) 1946 | - B) 1948

C) 1950 ' D). [ 1952.
When was the National Interim Government formed ?

A) 1946 ' B) 1948

C) 1950 ‘ D) 1952,

seiluat Lhgermenti olnsl asCetr( CBTL e wal ?

A fpps salos

B) b Hreue

C) epelue  sblp eetédlee  2.galfd sl  Qoellapd  sblp

Gho et QLT 6iT
D) paiyp Guobur@.
“Kaniyan Poongunranar” award is associated with
A) best poem

B) best novel

C) the software which helps for scientific Tamil development

D) urban development.

Xxxxx | 1602 701
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ﬁmm@mmmﬁ)@eﬁ SGULIEL. 2 eB0TeUMs LIWesTU(heovg)

A yhlur, Guryréey _ B)  e0ad 2 Uy, yifluyr

C)  NH;. KCi D) S-gbGurefilub wrelluGu.
Which among the following is a set of primary nutrients ?

A)  Urea, borax B}  Epsom salt. urea

C) NH;, KCl D}  S-ammonium molybdate.

uigwe I o ulgue I 2 Ler Gurepsdl, &6y Q&[T@&&LEUL_@GHSTT GOEHHemens
Qrer® eflursn eleawp CarHRSH :

uCigweo I L wev IR
a)  uestwrgy 1. @LéaY
b)  Hessy B 2. &ié@
c) 24D 3. @enGenduné
d]  &rboy 4.  eurinTeiu.
eplpe
a b c d
A) 2 4 1 3
B) 1 2 3 4
C) 3 2 4 I
DD 4 3. 29%

Match List I with List IF correctly and select your answer using the codes given
below :

List 1 List I
al Glacier 1. Pothote
b) Underground water 2. Cirque
c)  River ' 3. Inselberg
. d) Wind 4. Lapies.
Codes :
a b c d
A} 2 4 1 3
B 1 2 3 4
C) 2 4 1
) 3 2 1.

XXXX ’ , [ Turn over
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39. &Cp Qer@ésiu @eerameuselles sig seupmel QurGEaHIIL HeTers) ?

A wss allers Uysseaibd — Camidle

B)  myélbweauioes = ceur gl Q& medorL_mes
C) aVlpdly fager ’ — UL Lib

D) B euiwer : — Qpeveyrflesr Guimi.

Which of the following is incorrectly paired ?

A) Mattavilasa prahasanam — Temple

B}. Narasimhavarman ' —_ Vatapi Kondan

C) Vichitra Chitta — | Title

D) Nandivarman PR Battle of Tellaru.
40. Pyl Leflar geaflrey alldldes Q[Duurr.emgj 7

A)  aluer GLoGuwiey alld) B) dlianl aild

C) Gl Gusit ald) D) Senri a9l

Newton's law of cool'ing is a special case of

A) Wien's displacement law B} Kirchhoff's law

C) ‘Stefan"s law D)  Planck’'s law.

41. 2009-10 b gyetoig 6y Licwialhe ( Syeeardg GuTmBearaaiear ) saiph
A) 14-4% B) 10%
C) 8% Dj 11%.
Annual rate of inflation of all commodities in 2009-10 was
A 144% B} 10%
C}) 8% : D] 11%.
42, sshily @bdurals wpoed sevents 1Ny
A)  arsmT eusveoUrlr LGL 6 B)  eyeiiéli
Cy Ogsgleasymd D) Guweorest.
- The first Dep{,lty Prime Minister of free India was
A) Sardar Vallabhai Patel B)  Charan Singh

) Jagjivan Ram D) Menon.

xxxx [1502 ) ) 701
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44,

45.

17
L) & pevaueng, Hinigdlerme, e uriferGuoe g Bler Campm whHny
A)  ader @ sdHad sdleflaen ‘
B)  éiévann GLSdlend Gampuybd
C) srvah‘s\)rr @Lg’;ﬁ;\gﬁﬁ) gWr e @)H&ELh
D) de @Lusdle Hefsan vhy He G ksl swwrend GlnhéGD.
If the earth stops rotating, the aﬁparent value of g on its surface will
A) increase everywhere
13) decrease everywhere
C) remain the same everywhere
D).  increase at some places and remain the same at some other places.
urdluret cusmenwhiseT @eubble el lestpest |
A) | uréy GByrGirGembe e B) . 2@CarGsmbaer |
C) o GunQ@ambsel | D) . uredlieed @GUWGmWQ&Wmémﬁ.
Balbiani rings are found in
A) sex chromosomes B)  allosomes
C) autosomes J D} polytene chr'_om_osomes.
Sen&CaTaigel e1emn.ienal
Al yser, Gleusel, yal LHOD & Uil
B) . Qeusirefll, Lad), Glaclieumis whHId ahwimypeis
C)  elwmpst], sal), yGravev wHnid CipLig Y,
D) yafl, Geieumil, aﬁlwwgpe&! whmp Fef.
Terrestrial planets are
A) " Mercury, Venus, Earth & Mars
B)  Venus, Earth, Mars & Jupiter
C) Jupiter, Saturn, Uranus & Neptune

D) Earth, Mars. Jupiter & Saturn.
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46.

47.

48.

XXX

QU Wy STHHSHTE ,_gpf)\ml_]u@ﬁgjrrr'r ?

A) g{sdmmrrmm;su u@&@w& &ped Hlpalugme

B} aypdly wrdled qﬁ;u%é\w@m

C) wsorede m@mﬂ@é&mé& @;@@&l}u@g;fﬂmgm‘é\)

D) geallg Qaepmeren 7 ememriu éb.
"Potti Sri Ramulu is known for

A) founding of Annamalai University

B) creation of Andhra Pradesh

C) prohibition in Madras

D}  separate Telangan:;\ issue.

2009-10 Qur@ertr gy eueniédliflde siftpad mésg;emsmm&m@ wrilewnTs 2 _efteng ?
A) 3oy : B) 4 cug
)  5eag ' D) 6aag.

What ts the rank of Tamil Nadu in €conomic growth among the states in India
~during 2009-10 ?

A)  3rd : _ B) 4th
C}) 5th D)  6th.

wrdley #lL Cuaaeudler LQurgs 2 pullerieeie, apsoear Cueny y@bBT Hluwesid

Clelbwers 7.

A) B)

C)

W= |
Gl G|

D)
What proportion of members can Governor nominate out of total members in
State Legislative Council ?

A) B)

Q| b= b f o

C) )

Olims O

| 701



49,

50.

it

51.

19 MART
wellg QHs Haulugmsseile aramiuL@d soure BmEGiee
A} GlE_ITs’(SLDFI'@Gﬂ-'ITTIﬂGGT B) anfiberfigen
C) afGuramewretic D)  @BenmCrr@meuriler.
Whalt ls the respiratory pigment found in humén RBC ?
A) I-[aernog]obin B) Hemeryihrin
C] Haemocyanin ' D) Chlorocruorin,

£ QarPssiul L ebs oo Cory sfluts Qurmbsalaveme ¢

A)  weTwiey UTEMMEET — SL_YTIT

- B) GQgf u;améu ‘ =] gyl
C) &byl LImTenn — Syflweyriv
D) euedoiL — Hehamey.

Which one of the following pairs is incorrect ?

A) Sandstone — Cuddalore
B) Terisand - Dharmapuri
C} Limestone — Ariyalur

D) Alluvium j — Thanjavur.

855 Cundly Slaamn  eveusvgnflest L fodin Gy nodlenyre  Bluddaliud
24,6001 TGl ? '

A) 1892 B) 1909

C) 1919 ’ D) 1935.-

In which year was Satyendra Sinha appointed as a member of Viceroy's

Executive Council ?

A) 1892 3) 1909

C) 1919 ) 1935.

@r’r@&la:rr 2 BHETOR SDéemL peiidlen 2 salyL. et BleuSHILL L §) 1
R B) Guhe Ominaf

C) uy. Gs D) u). eTef0. &
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Rourkela stcel plant was sel up with the assistance of
A) USSR _ B) Wesl Germany
C) UK : [ USA.
53. @hdlu urgr@pben beol_(penpuliey Lsw Crrd SmlupeiuBssiul L e ()
A) . 1945 -~ B) 1950
C) 1962 D) 1976.
In the Parliamentary procedure of India, zero hour has been in existence since
A) 1945 B) 1950
C) 1862 D) 1976.
54. &p&acson_aipenn sresullasig Ll iguel@e :
I Glpereul. &l Lib
II. Heorus QUSSD
HI.  wrenCL@-0ebsv@urt® &idlmssd
V.  ordlue ameurumé .
@eubmen sfluneeng Gaire
A) LI v, 1 B) [LIV, 11, 111
C) I 1, 1V, il D} 11, HI IV, 1.
Arrange the f{ollowing in chroﬁological order :
I Rowlatt Act
i Khilafat movement
Il Montague-Chelmsford reforms
IV. Jalianwalla Bagh tragedy.
The correct order is
A) L 1L, 1V, HI B) IIV. 11, 11l
C) I 1. IV, 11 ) 1, 1II, IV, L.
55. sfprTiigd, NH 47 GOnp(ererneve
A)  Gswib apsee serallurgof ey
B)  wgeor was @uTlweveurh eueny
) BEGLLLIGETD (pHes Gamubydart ;;ucmlj

D)  Qadtemea WoHe HaoTHdma suan.
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In Tamil Nadu NH 47 is

A) Salem to Kanniyakumari B)  Madurai to Rameshwaram

C) Nagapattinam to Coimbatore D)  Chennai to Dindigul.
56:  pdsmaon. eupmei Oi..doel §HULIBSHD 66y Sien PpheluBoug ag ?

A) audQen spliLibgHID | B} yem gluhsh

C) empgl @raley uUbSD | D) @e&bleraL.

Which among the following was also known as Delhi pact ?

A) Lucknow pact B) Poona pact

C) Gandhi-Irwin pact D) Communal award.
57. efgpéaé,sﬁcm FnDOIGEmET L6 : ‘

Y sTemeve T 6 siIgs eptb EGan Gt @by Gar &SRR

1. @a eWilakselear dessdia 2 sier Hles GoODHs oerey YD wHDID

2_iGlun et Henend Geaodbdl 2 sadlns.

@leubmyerr :
A)  ToHoub I sfureteneu B)  1whmbd I seuprerency
C) el Il geumy D) Igeumy, Il &l

Consider the following statements :
I ELISA is a isotlopic immunoassay.

II. This is used for the determination of small quantities of proteins and
other biological substances.

Of these
A) I & II are correct B) [ &Il are wrong
C) I is correct, Il is wrong D) Tis wrong, I is correct.

58. sderu@ nabsaner Gadlal L LIRSS WPeoD
A} eoswre Goiey Gleuge B) arpsalue flgse
C) .qmﬂuﬂ’r'nln_; wepde Jz0s@sse D) meoy Bisiy won.
Sulphide ores are concentrated by |
A) hand picking B} magnetic separation

C) gravily separation D) froth floatation.
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59. @sialé braseutsefler Qewueur( :
50 6@ Lubho
oflGue | 40 hDid 30 wHmd 20 wHHID
_ ' 2phe Gue 2iphe Cud 243D Gl
Limi_ (D
s 9 40 74
Syhidlen 5 30 65
gyl 6 35 70
Shdlosde Gophsulsd 60% wHuGuas Qubdp wrawaTsmer  syTstidic
@onheulsb 40% wdiQuee Gupp wremarsGam@ uiRamsdsa Hao &b
DT et eut &6t 8aaldlaib aesten 2 :
A) 43% B} 41%
C) 50% D) 45%.
Performance of students in an examination :
Marks
Qut of 50 40 and abovce 30 and above 20 and above
Subject
Tamil 9 40 74
English 5 30 65
Aggregate 6 35 70
The percentage of number of students getling at least 80% marks in English
over those getting at least 40% in aggregate is approximately
A)  43% B) 41%
C) 50% D) 45%.
60. Ganaur @hdu Guurfle Gemerdbsiul L aipLb agl ?
A) 1956 B) 1959
C) 1961 D) 1962.

In which of the following years Goa joined Indian Union ?

A) 1956

C) 1961

xaook [1502]

B) 1959

D)

701
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61.

62.

63.

64.

65,

23 MART
Fpsecmiauppiet ‘GiGursud’ usdlileaaliar g diflut wri 7
A)  sUmweiu &leur | B} dm. al &.
C) desaul Sybuoréemd] D) &l &l aev. suir.

Who among the following was the editor of ‘Suryodayam’ ?

A) Subramaniya Siva B)  Thiru. Vi. Ka.

C) Neelakanta Brahmachary D} - V. V.S lyer.

Qi et el - aTens® BIHEE «oovovierennne & 2_cfTengy.

A)  LuwCameuse i B) L GrrGumevdoiu
C)  swCenmducsSuit _ D) el grGLmendsiShuit.

Kennelly-Heavyside layer is prcseni in the

A) Mesosphere B) Troposphere
C) lonosphere D) Stratosphere.
Sern SLCLT meoL QuDD 21 &u 6

A) 1764 : B) 1765

C) 1757 D) 1857.

The battle of Plassey took place in the year

A) 1764 B) 1765

C) 1757 D} 1857.

S|Bl60 DEDp 2 (HeuT s STy

A)  f7orsaur® - B) &el wrauth
C} &by wreurQ ' D) dle wr&uT@.
Acid rain is caused by

A) water pollutiér; B) noise pollution

C) air pollution D) land pollution.

Siherens Gampi uybuesyeoud Cordoaldseut wri 2

A} (PHBOTID Gy eIy snedt B) upgnhgeet

C)  aliguwmenwets D) s dsu Gampebdr.
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66.

67.

68.

Who was the founder of the Impecerial Chola dynésty ?

A) Rajaraja 1 B}  Parantaka

) Vijayalayan D}  Aditya Cholan.

yelwles euwg 2 5Csew0re _ ,

A) 45 Sévedlwedr m@u_nﬁle.aer'r ' B)  1-8 Neveblwedt eupL st
C) 2250 Blevelwsdt eumL e D) 1950 Hléveflwer supLige.
The age of the earth is about

A) 4-5 billion years Bi 1-8 billion years |

Q) 2250 million years D) 1950 million years.
“Qlevelll BTN BT 6TesIDTEr 6 ebTen ?

A)  seNBUT euHLTETD WTETWD Hheeors

B) aifl Qeeey Gurs 2 &fer Hliay eubLTEID

C)  selpui eumoTerd wIHE Cleewey HhseTs

D) Csdlu cugurestd Cabmestd misers. .

Disposable income is equal to

A) personal income minus subsidies

B) perseonal income minus taxes

C) personal income minus transfer payment

D) national income minus deprecciation.

sars Gals senalemensd sl QUUEBSSD, urToflsesad ‘Gaurs WD 2 6iaTag
(PHE (PBTS &L MBSl |

A} Deveuneieugd B) Gamedll

C)  Gueblev D)  evrmriedlm.

Who f[irst rcported the presence of 'respiratory centre’ which maintains and

" controls the rate of respiration ?

69.

XXXX

A) Mislavsky B) Collip

C) Bayliss | D) Starlin_g.
1979-b g eomGL. &L &l sreucd Gemi #LL Héog @ubdiu wrileud
A)  Gagenr B} sy & emewsi
C) CGope surie e ‘ D) sllpEr@.
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71..

72.

73.
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The anti-defection law was enacted as early as 1879 in

A) Kerala B) Jammu and Kashmir

C)  West Bengal D)  Tamil Nadu.
5. eredt. ¢ adledt @)y el Gleoipé apel wrHflenwd seto . Hlbgeuiaer

A eurl ser whoe &liflé B}  Ggibev wihmyd GinGlgcuaebr

C) Ggésu whmd Guomer D) elevdleev nhmn Cevale.

Double helical model of DNA was discovered by
A} ' Watson and Crick B3} James and Meselson
C)  Jacob and Monad D)  Wilkins and Levene.
yalldlesr sgmef oL igd) |
A 5517 gem™ _ B) 1llgem™
C) 3gem™ : D) 35 gem ™.
The average density of the earth is- .
A 5517 g cm™ B) llgem™
C) 3gem™ : DI 35gem™. .
HEUDITET 616001 eTH| ?
5,11, 23, 47, 90, 191, 383
A) 11 B) 47
C) 191 D) 90.
Find out the wrong number :
5.11.23. 47,90, 191, 383
A) 11 B) 47

C) 191 D) 90,

MART

Qbdlu gpsre Gasflu dymniyp Ceusmeeuminiyg &b ( NREP } apg yam®

DWPSHILURSSIIC LG ?

A) 1978 B) 1979
C) 1980 D) 1982
1502 701 f Turn over
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In which year was 'NREP" ( National Rural Employment Programme ) launched
by Government of India ?

A 1978 | B) 1979
) 1980 D) 1982.
74. SARFAESI 6Ll LD bt Crr&ssaéens ggtndlé,g,uul_'-x_@ ?
A) ukigFehenseow HLHOLHGS |
Bj (LPGRTE FHEOFHOW PUHGLHSHS
Cy Rdsdlilses FToelw .
D) eundleehies setmarihsamen GlgudLIBGHS.

SARFAESI] Act was introduced for the purpose of

A controlling stock exchanges

B)  regulating capital markets

) streamlining the financial system '

D) enabling the banks to realise their views.

75.  SpéaetoLcubmieT ‘O apetpmd Hrel Sl D! eTedin SempseliiBealg gl ?
A)  Geueuev gl B) C.R &ln |
C)  Seownssrame STHGhED Siio D) Queretore GuilLebr GlLLib.
Which among the following was kﬁown as June 3rd Plap ?
A)  Wavell -plan : B) C.R. plan
C) Cabinet mission plan D) Mountbatten plan.

'76. A, B wpmid C uestflllles 2 efreneuimen: B, A whmid E ugseuiser; A, C wpnn D
Baap asdurararss; D. A wppd E Gpiovuraaitsd caafild, @ wrr

ueilfice 2 efemeurt, eusdlumesreut . oy emes Critemwbwbmaut ?
A} B B} B
) A Dy C.

A. B and C are employed. B, A and E are educated. A, C and I are very rich.
D. A and E are honest. Who is employed. very rich but not honest ?

A) B ' B) E

C) A D) C.

ok [1802] ' 701
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78.

79.

80.

27 MART
oLGrireuenst Lt aimeuarahnet aha 2 Garapdler rauLTmst
A)  QuossiGevaiwuib B) inmeSitim e
C)  wéeldlub D) wrhsels:.
Pyrolusite is the mineral of |
Al Mendelevium 13) Molybdenum
C}  Magnesium D) Mangancse.

fhgGeuell praflen epprefisgamss sribss ?

A} peAIYDD B)  uypspsi

C)  dlgmon D) Suwepr(.
To which does the Indus valley civilization belong ?

A) Urban B)  Suburban
C)' Village D} Foreign.

S8y 2 dimemausdilas dg Eyhdu opndud sligdlar  Eply  SybetsenTs
sapUUGE T mE 2

Al seveut/sdluil Wwen e, pHEPHLMT 8 whHpd @@&f.’-éﬂ (LPEOD
B)  umgr@pweip, sheopuridl bpnid Glneldt e

C)  uUMOTE@BILESTD, Sni Lt & La[b@jtb uesL.8 Wen

D} | unpgrEnhoein, @(Dcmgoumf_&ﬂ wHnHb vesl §l (peon.

Which among the following is rclated to the features of the Constitution of
India ? '

A) Presidential, Unitary and Two-pariy system

B} Parliaméntary‘ Unitary and Two-party system
C) Parliamen-tary. Federal and Multi-party system
D) Parliamentary, Unitary and Multi-party system.

S|EEBIMD ISTOID eTESTMT &7 6b1601 7

Al wéseflLp oasasd QHEGD CHTLE + beseld GoHameu aneauly

B)  io&sefler engsus Gurli @ + ghee dlnpusd Cadliing emeuliy

C)  wasehle emssus Crrl( + aundlaeledr Qurgeme eeuliy + Caeames emauiy

D) waselar waeus Curl () + aimald@n smeutiy.
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What is Broad money ?
A) Currency with public + demand deposils of the public
B} | Currency with public + post office savings deposits

) Currency with public + time deposits of public with banks + demand
depositls

3) Currency with public + derived deposits. .

81. &Gy snniiiReteteunidle Grbdlu oyylweenniy sl L dlet sibg Gfley urgr@boeind -

yflusne odle @hdu gralucdiiaow 2 haunéss ames Qeaudng 2
A)  9fe 303 B)  Ufley 307
C)  JIfley 309 D) dfley 312.

Which one of the following Articles of the Constitution of India_authorises the
Parliament to create new All-India. Service ?

A} Article 303 | B)  Article 307
C)  Articlc 309 : D) - Article 312,

82. sblphilget Guorgs Bleluriuene,
A) 13eolsbegy &S B) 21 etsb sy &8
C) 31 eledsgy dlb D) 1-4eisb gy &8
The total land areca of the state of Tamil Nadu is
A)  1-3 lakh sq. km B) 2-1 lakh sq. km
C) _ 3-llakh squkm D} 1:4 lakh sq. km,

83. Quidisdash awad cupssb e Pae abhss Canper arapde Coraidug 2

A} gard @rTe @ree B) @urlgyhdlgen

C)  ysemd @mr&rré]qrr&efﬂ D)  wserd GO Gamkines.

In which Chola King's period was the practice of writing of ‘Meikirti’ started
first ?

A) Raja Rajan [ B) Rajendran

C) Rajathi Rajan | D) Kulothungan 1.

84. dpssamapdlée eg Geusfluuri Gé smeall Geemen 2
A ALGUmHEE) B) seola sefsdleny
C) ©nbhss@ . D) QGeveir gyEsnGumgdl.

xoce (1502 | 701
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Which one of the following is not an output device ?
A) Speaker B) Computer monitor
C) CD ’ D} Laser printer.
85. & ifle) wadiLeé Gpeaseiter auflGu aiflar @urr@& B&HIUHe )
Ay ellyeusy B)  geuey® ugeuey
C) GITEOING.& HLHSH6L D) greser e sLGHgHen.
« Passagce of waste product in the renal tubule is an example of
A) diffusion B)  osmosis
C) active transport D) passive transport.
86. Wereumeuesreuppue @igufleow Qerturer guwmsses Ld @udpiis Tg HaEon® ?
A 1955 | 'B) 1976
C) 1986 \ D  LO8gs
In which of the following years Citizenship Acl was not ax;lended ?
A) 1955 : B) 1976
Cr 1986 D}y 1992

87. areumelsorsuppled seaipmeor @emsooremnu sesari-Blueyh ?

A) o uhCHBrSTD _ — LD smhdiy &L'_L_;r'ré\
B) emsidifielee o — GOl L b1 LShryLy

C) Gagmeoud ursdleor  —  @urgred

D) @rj,_é]m Gsdu Guremieund — Brore.

Which of the following is incorrectly paired ?

A) Vande Mataram — Bankim Chandra Chatterjee
B) Partition of Bengal —_ Lord Lyiton
C} Vedaranyam March — Rajaji

D) Indian National Army — . Netaji.
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- 88.

90.

Ol

92,

whp  elflemhsener o @@ eurqpd 2 dflethiset .

S el eTpen .
A} petGeurisen B) o pusdlurertsa
C}  Hevgliueut el D) srpesoraise.

Organisms which eat other organisms are called

A) consumers B) producers
C) decomposers D) saprophytes.
eTD6T 60 -L MM eTedTlIg)

A) g HHa B o uwetur (G Geroum e
C) gn Gewudur. @ Cwearblurel D) e sustmmsi.

MS-DOS is the name of

A) a deyice B) an application software

) an operating system D) a hardware.

LesoT&efilesl g LuenL Wersst Lsieflaleurhihenaré enewments Lwetu@o sgmef
A) sl @GFenusf B) @eLdloe ‘

C) @esssgnad YD) Quipbes sgmarl.

For dealing with gualitative data, the best average is

A) Arithmetic mean ‘ B) Median

Q) Harmonic mean D)  Geometric mean.
umedtiweTUrensdl LIy G senil &t ClGrL T Lig)

A)  sreuphsen B) aSeviidlermsel

C)  yeosugLEEsaT /LTS da e D) uréefur.

Palacontology is related with

A) plants ' B) " animals

. C) fossils . D) bacteria.

S0 supagdlafiar aurpsams apemwuyb vamUTL K aeyb eIfsgmriug
A) geaalansaalud B) eyl allwen
C) peidlwe D) Qeselwe.
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93.

94,

95.

98.

31 MART

The description of a society’s culture and its way of living is called

A) Ethnography { Inavilakkaviyal } B)  Anthropology [ Maanudaviyal )
C) Realism ( Nadappiyal ) D)  Classicism ( Chevviyal ).
Qamalhdlu i HliemCuig HlearQibsma smi g ameatey FHLESSILLL oy eorh

A) equuren. 1800 B) gg@sm 1800

C) QGuw, 180! D}  g®etr, 1801.

‘Dindugal Federation’ was formed during the South Indian Rebellion in the year
A) April, 1800 B)  June, 1800

C)  May, 1801 D}  June, 1801.

UL B& 6T HID euenTUL RSET eraDaTen s(halaen e ums&u@ﬁgbu@@m@m ?

A)  yeisfledisurhimevar Gaaifldo B) u@lumie) ©Ogbw

C)  unieeaibgabs woptlée oass D) GQeress.

Diagrams and graphs are tools of

A) collection of data B) analysis

C} presentation 0 summarisation.

Be gflsorar salln cuabanss ©l&Mesg HUUG

A} epiflevenm B)  weryreylpm

C}  &yevenumid D) sbipHrd.

The largest share of mincral resources is accounted by

A) Orissa - B)  Maharashtra

C) Assam ‘ D)  Tamil Nadu. '

SO Bersdld wasaClgTae 5,13,200. G aEL-s8DE 12% aap aldssdle
2 WITHSTe, AP UELHSEESHS UDG bEeIsHar woHecaraoms adraans
@useb ?

A) 7.12,009 B} 7.10.029

C) 7.21.009 D)  7.92.100.

The population of a city is 5.13,200. If it increases at the rate of 12% per
annum, what will be its population after 3 years ?

A) 7.12,009 B) 7.10,028
C) 7.21,009 D) 7,92,100.
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97. & (1p. 3 b BITHOTEIGE (PHE &6 DTHIE B UDD @)L o

A)  emeusmed _ B) urLeSluyspdigin

C)  emeydi D) grgdlys.

The first Jain councilwas held at .................... in the 3rd Century B.C. .
A} Vaisali B) | Pataliputra

C) Kashmir D)  Rajagriha.

98. ebon Blp gefildebhan hpn Gilue gefl garan 2 oL wg
A) MASER B) LASER
C) TESTER D) MASTER.
An enhanced beam of monochromatic and coherent light is called .
Al MASER ‘ B) LASER
C) TESTER D} MASTER.

99. Gurile. 2 Wi ss oSyt GOLULGERHGD, UTEINGL Syefeen euphdu
Blevhgeflesr QL

A Fmpedlemwr b B} UgbwCguid
C) e dlpiulyg - D) plaipgib.

What is the name of the land donated by Pandiya kings to the families of the
 soldiers who lost their lives in the battle ? '

A-) Thiruvidaiyatiam _ B) Bhramrﬁadeyam
', | Uthirapatti 7 |9} Nivantham.
100, epéasamhier QHs@d sTyrusbo s sHessrBlu LwasTuGd CurEar
A)  MnO; ( Cuiisealav e & )
"B)  KMnO, (Qurtirdlub QuirnrisGert. )
C) K,Cr,0; ( Qurcrélub eoL &@CrmGul. )
D) KNO, ( Qurindluib ept Gl ).

The oxidant used in the testing of alcohol in breath is

A) MnQ, B) KMnQ,
C}) K5Cry 05 ' : D) KNQ;.
XXXX 701
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103.

104.

105.

106,
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Identify the compound sentence :

A)
B)
C)
D)

As he was sick. he did notl attend the class
Though he was sick, he atiended the class
When he was sick, he attended the class

He was sick, yel he attended the class.

Identify the compound sentence :

A)
B)
C)
D)

If I were a bird, 1 would fly
I am a bird, so I will fly
Being a bird. I will fly

Because [ am a bird, [ will {ly.

Identify the simple sentence :

A)
B)
C)
D)

He worked hard. but he could not succeed
Climbing the hill I saw the dog
Lalloo was so tired and he took rest

While I was returning home 1 met Uma.

Identify the complex sentence

A)
B)
C)
D)

He was sick and so he remained at home
Though he was sick. he did not remain at home
Being sick he remained at home

His sickness made him stay at home.

Identify the complex sentence :

A)
B)
C)
D)

We must eal or we cannot live
Unless you dance well you cannot win
The news is too good to be true

I have nowhere to sit.

Identify the positive degree :

A)
B)
C)
D)

Very few poets of the world were as great as Kamban

Apple is costlier than mango

‘Ravi is more intelligent than Murugan

Tagore is greater than most other Indian poets.
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107.

108

109.

110.

1N

113.

114.

Identify the positive degree :

A) You don't know him better than 1 do

13) Very few animals are as useful as the cow

C) This is the most useless of all my bags

) Ausiralia is the largest island in the World.

. Identify the positive degree :

A) | My father is the richest man in the town

B)  No other man in the town is so rich as my father

C)  Kolkata is bigger than any other city in India

D) Kolkata is the biggest city in India.

Identify the degrec :

Iron is the most useful of all metals.

A) Positive degree B)  Superlative degree
C}  Comparative degree D} = None of these.
Identify the degree :

The Eiffel tower is taller than Qutb Minar.

A) Comparative degree B) Superlativé degree
C) Positive degree D)  None of these.

. Find out the odd word ( adjective ) :

A) invert . B} invertebrate

Cj) inversion D) invest.

Find out the odd word ( adverb ) :

A) successfully ol B}  success

C) successful _ D)  successor.
Find out the odd word ( verb } :

A) natiohalize B} nationalist

C) nationality D} nationalization.
Find out the odd word ( noun ) :

A) decoration B) decorate

C} decorative Dj décorous.
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115,

116.

117,

118.

119

120.

121.

122,

Find out the odd word { noun } :
A) oppose
C}  opposite

Select the correct plural form of

clock —
A) clocks
C] clockes

Select the correct plural form of

swine —

A) swiness

C) swine

Select the correct plural form of
thief —

A) thiefs ’
) thicfes

Seiect the correct plural formn ot
medium —

A) media

C) medias

Select the correctplural form of

wolf —
A) wolfs
Cl wolf .

Select the correct sentence :
A) I hurt myself

B) Myself 1 hurt

C) I was hurt myself

D) Myself hurt.

Select the correct sentence :

35

B)
D)

B)
Dj

B)
D)

B)
Dj

B)
D)

B}
D}

A) She sells sea shells on the sca shore

B) She shells sea sells on the sea shore

C) She sells, sea shells on sea shore

D) Sea sells she shells on the sea shore.

- [Fa52] o [1502)
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opposed

opposition.

clock

clockies.

swins

swineses.

thieves

thief

mediems

mediumes,

wolves

wolfes,
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124.

125.

126,

127,

128.

129,

130.

131.

3. Select the correct sentence .

A) He is an inemployed youth

B} He is an unemployed youth

C} He is an enemployed youth

D) He is a disemployed youth.

Select the correct sentence : .

A) If you work hard, you should passed
B) If you work hardly. you could pass
C) If you work hard, vou will pass

D) If you work hard. you would passed.
Select the correct sentence :

A) This is a most unique cccasion

B) This is a more unique occasion '
C) This is a unique occasion

D} This is an unique occasion.

Find out the error :
He ismy cousin brother
‘A B c X\
Find out the error :
None was good ' Noerror

A B N\ D
Find out the error :
She gave me an one rupee note

A B C D '
Find out the error :
Besides English 1 can also spoke Hindt
A B  C D
Find out the error :
A little bird usually fly fast

A BB C D

Fill in the blank with correct Homophone :

I went to the shop to buy some ........... ST

A} floor B) flow

C) flour D) four.
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133.

134,

135.

136.

137.
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Fill in the blank with correct Homophone :

His voice is ............... .

A) horse B) hoarse
) hoarsed D) hiss.

Fill in the blank with correct Homophone :

My friends ............... the potato.
A} peal B} peel
C) pale D) pill

Fill in the blank with correct Homophone :

............... has won finer victories than war.

A) Piece ' B) Peas
C) Please D)  Peace.
Fill in the blank with correct Homophone :

Abe smiled, when the warder unlocked the .............«s L

A) sell B) ceill
C)  well D) hell
Comprchension :

River Amazon of South America has the greatest flow and is navigable for two
thousand miles, It is longer than Yangtze river, also known as the lifeline of
China. However. the Amazon river is not as long as the Nile of Africa. The Nile is
the longest river system of the world.

Which river is known as the lifeline of China ?

A} . Amazon "~ B) Nile
Q) Hwang Ho D)  Yangtze.
Comprehension :

Napoleon was the son of an [talian noble man. He was born in the Island of
Corsica in 1769. He joined the French army. By the time Napoleon reached the
age of 26, he was already a General. In 1793, he supported the French
Revolution.

When and where was Napoleon born ?

A} Napoleon was born in 1679 in ltaly

B) Napoleon was born in 1769 in France

C) Napoleon was born in the island of Corsica in 1769

D) ‘Napoleon was born in Furope in 1916,
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138. Comprehension :

Interior deccration is not a modern invention. The Persians were the pioneers in

‘making carpets. Akbar, the great Mughal ruler of India patronised this art. Even
today we caﬁ see a few samples of mats manufactured during the Mughal period
in the Metro Musecum of Art in New York, U.5.A.

Mughal peFiod mats can be seen in

A) Persia B) Tamil Nadu

C} North India D) New York.
139. Comprehension :

Jesse Owens walked over to Luz Long's room to thank him. They sat in his
quarters and talked for two hours about athletics, ourselves. the world situation,
a dozen other things. When he got up to leave, we both knew that a real
iriendship had been formed. Luz would go out to the stadium tlie next day trying

to beat him if he could.
Where did they sit and discuss a dozen other things ?
A) Stadium B}  Indoor stadium
C) Hostel D) Quarters.
140. Comprehension :

Beverages or bottled drinks like Mirinda, Fanta and Pepsi contain chemicals
which are harmful to our general health. Natural cold beverages like buttermilk

and coconuts are cheaper and harmless. They make us healthy also.
Which of the following statements is correct ?

A) Beverages are harmful to our health

B)  Beverages are harmiess to our healtﬁ

C) Natural beverages make us unhealthy

D} Natural beverages are costlier than bottled bevérages.

141. Identify the sentence pattern :

Rama killed Ravana. ‘ .
A) SVO B) SvVC
C) SV D) SVOC.
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142,

143,

144,

145.

146;

147,

148.

149.
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Identify the sentence pa'ttern d
We elected him the leader.
A) SVO -B)y 8VC
Cl SVOC D) SV
Identify the sentence pattern : '
We visit our, relatives in vacalion.
A $SVOC - B) SVIODO
C) SvVC D} SVOA.
ldentify the sentence pattern :
My brother gave me a present. 7
A) SVOA By SVIODO
C) SVOC Dy SVCA;
Identify the sentence pattern : -
He borrowed my book last week,
A) SvoC B) SVOA
C} SVIODO D) SVCA.

Change the following Verb into Noun form :

Collect —
A) collecting B)  collective
C) collection D}  collects.

Change the following Verb into Noun form :

Neglect —

A) negligence B}  neglected
C}  negligible D) negate.
Change the following Adjective into Adverb form :

Deep —

A) deepened B) depend
C) deepness D) decply.
Change the following Adjective into Adverb form :
Perfect —

A} perfecting B}  perfectful
C} periectly , ' D) to perfect.
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150.

151,

152.

153.

154.

15b.

156.

Change the following Noun inio Verb form :

14

Success —
A) successable B)  succeeding
C) successor D) succeed.

Select the correct voice form and fill in the blank :

A few reminders ......... e to the officer.
A) have been sent B}  will send
C) is being sent . D)  be sent.

Select the correct voice form and fill in the b!ank :

You ...l if you disobey.
A) are being punished B)  will be punished
C) has been punished D)}  will punish.

Select the correct voice form and fill in the blank :

He remains unperturbed, even though he ... 0 .

A) has defeated B) had defeated
C) has been defeated D) were defeated.

Select the correct Passivé‘Voice :

The table can ................. by him.
A) lifted : B}  be lifted
@) lifts D)  lifting.

Select the correct voice form and fill in the blank :

Let the poor ................. .

A) insult B) insultéd

C) is insulted D) . be not insultéd.

Fill in the blank with a suitable participle :

The teacher scolded the boy ................. in the classroom.
A) play B) played
Ci playing ' D)  was playing.
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163,

164.
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Fill in the blank with a gerund :
He did not like ........ e - . late.
A) to work B)
C} working D)
Fill in the blank with a suitable infinitive :
He showed me ho-w ................. a fuse.
A) to fix B)
C) to be fixed D)

Filt in the blank with a suitable participle :
....... vevverere. sick, he did not attend school.

A} Be B)
C} Is being D)
Fill in the blank with a suitable participle :
This is a work already ................. by him.
A) finish B)
C) finishing D)
Select the correct guestion tag :

Do this at once, ........c... .0t 7

A) did you ‘ B)
C) don’t you D)
Select the correct question tag :

Come home early, ................. ?

A do you B)
C)  will you D)
‘Select the correct question tag :

Your sister looks well. ................. ?
A) does she B)
C) doesn’t she D)

Select the correct question tag :

Have some more rice. .............. L7
A) do you B)
C) haven't you D)

oo (1802 [
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having worked

was working.

fixing
having fixed.

Being
Was being.

finished
to finish.

do you

won't you.

don't you

didn't you.

don’t she
didn't she.

will you

have you.
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165. Select the correct question tag :

There is a mosque in that street. ................. ?
A) isn't there B) hasn't there
) didn't there ) D) did there.

166. Select the correct tense ;

Stephen Hawking ................. the greatest of the living scientists.
A) is B) was
C) had been D}  were.

167. Select the correct tense :

All the students ................. the special class last week.
A) had attended B) attended
C) will attend D)  would attend.

168. Select the correct tense :

G e this story since 10 O’ clock.
A) has been writing B) have been writing
C)  was writing : D) ' have written,

169. Name the correct tense form of the underlined words

When they went to the'theatre, thetickets had all been sold.

A) past perfect B)  present perfect continuous
C) past perfect continuous D)  future perfect.

170. Select the correct tense :

Ifyoueallme, I ................. to your help.
A will come B) would come
C) came |8} had come,

171. Fill in the blank with suitable article :

Ramya has come without ................. umbrella.
A) the ‘ B) an
C) a D)  no article.

' 1'72. Fill in the blank with suitable article :

The girl ate ................. orange.
A) the Bj an
) a D) no article,
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173. Fill in the blank with suitable article :

MART

K}ra_n would make ................. better engineer than doctor.

A) the B) an

C) a D). no article.
174. Fill in the blank with suitable articie :

The best way to catch ... mouse is mousctrap.

A) an B} a

C) no article D) the.

175. Fill in the blank with suitable article :

xxx {1602 ] 701

Copper is ................. useful metal.
Al a - B)  no article
) an D). the.
176. Fill in the blank with suitable preposition :
The money was divided ................. the tliree sons,
- A) with B) . between
C) among D). for.
~ 177. Fill in the blank with suitable preposition :
Peter prefers coffee ©....0.......... . tea.
A): than B) from’
C) over : D) to.
178. Fill in the blank with suitable preposition
He goes on Sunday tc; church and sits ................. the boys
A). among B) out
C)'  between D) of.
179. Fill in the blank with suitable preposition :
Anoop éame to school ................. train.
A) on B) by
Q) through D) at. ™
180. Fill in the blank with suitable preposition :
He arrived ................. February.
A) at B) on
C} in D) along.
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181. Choosc the correct "antonym’ for the underlined word from the options given

below :
The utter simplicity of the subject was suddenly revealed to me.
A) showed B) hidden

- C)  explained D) understood.

182. Choose the correct ‘antonym’ for the underlined word from the options given

below :

They had a special building.

Aj right B) common
C) particular D) good.

183. Choose the correct ‘antonym’ for the underlined word from the options given

below :

Gandhi was meant for truth.

A) falsehood . B) violence
C) bold D) hatred.

184, Choose the correct ‘antonym’ for the underlined word from the options given

below :

We had to stop ever so often.

A) rarely B) frequently
C) always D)  usually.

185. Choose the correct ‘antonym’ for the underlined word from the options given

below :

All his designs were authentic.

A) real ‘ ' ' B) false

C} comitmnon D) audacious.
186. Select the word with the correct prefix :

A} deordinate B) postordinate

C) disordinate ) subordinate.
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Select the word with the correct prefix :

A) unregulér

C}  nonregular

Select the word with the correct prefix :

A) ensure

C) cnlive

Select the word with the correct suffix :

A) .- shortful

C) careful

Select the word with the correct suffix :

A) tireful

C) tirery

B}

D)

B)

93}

B)

D)

B)

D)

irregular

disregular.

enter

insure,

wquful

ceaseful.

tirely

tiresome.

MART

Match the following words given in Column A with their meanings in Column B

and select the correct.answer from the codes given below :

Column A
a) blanked

b) scan
c) diminish
d) outdated

Codes :

a b c
A) 4 1 2
B) 2 1 3
Clalid 4 1
1 3

12) 4

xxxx 1502 |
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polumn B
examine

) reduce
old

disappeared.
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192. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) deter l.. momories
b} grim 2. prevent
c) reminiscences 3. scold
d) chide - 4. fearful.

Codes :

A) 2 1 3 4
B} 1 4 3 2
- C) 2 4 1 3
Dj 4 1 2 3.

193. Match the following words given in Column A with their meanings in Column B

and sclect the correct answer from the codes given below :

Column A Column B
a) Greece 1. Thai
b} USA o 2. British
c) Britain 3. Greek
d) Thailand . 4. American.
Codes :
a b c d
Ay 3 2 1 4
B 4 1 2 3
C) 3 4 2 1
13 3 2 4 I.
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194. Match the following words given in Column A with their meanings in Column B

" and select the correct answer from the codes given below :

al
b)
c}
d)
Codes :
a
Al 3
B) 3
C) 4
D} 4

| Column A
quit
queer
amusing

authentic

] 4 2
1 2 4
2 1 3
2 3 1.

Column B
strange
real
leave

funny.

195. Match the following words given in Column A with their meanings in Column B

and sclect the correct answer {rom the codes given helow :

a)

b}

cj

d)
Codes :
| a

A) 4
B) 3
Yy 2
D) 1

xxxx [1802] -

Column A
diminish
negotiation
bewilderment

benevolent

3 1 2
2 4 1
4 1 3
3 4 2

Column B
confusion
reduce
generous

bargain.
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166,

197.

168,

199.

200,

Choosc the correct 'synonym® for the underlined word from

below :

The incessan{ rain was terrific.

A) great B) loud
) continuous D) hard.

Choose the correct ‘synonym’ for the underlined word from

below :

He had been summoned by the commissioner.

A) asked . B) called

C)  sent _ D}  subjugated.

Choose the correct ‘synonym’ for the underlined word from

. below :

The door looks gleamy.
A} bold -~ B) lazy
C}  shine ' : D) fools

Choose the correct ‘synonym’ for the underlined word from

below :

Kumar walked cautiouélx.

A) slowly B) quickly
C) | carefﬁlly D}  easily.

Choose the correct ‘'synonym’ for the underlined word from

below :
I'was too young at 16 to be frightened by anything.
A) surprised B) filled with fear

C) empowered D)  in great joy.
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